Name: _________________________________   Per ______

Lab:  How long does an Onion Cell spend in each stage of the Cell Cycle?
Information:  It is hard to imagine that you can estimate how much time a cell spend in each phase of cell division from a slide of dead cells, yet this is precisely what you will do.  Since the cells are dead, you cannot time the various stages, but you can determine how may cells are in each phase and from this, you can infer the percentage of time the cell spends in each phase.  To estimate the relative length of time that a cell spends in the various stages of cell division you will examine the meristematic region of a prepared slide of onion root tip.  You will count the and determine the percentage of cells in each stage.  you will then multiply that percentage by 1440 minutes because the length of the cell cycle is approximately 24 hours.  

Procedure

1.  Use your scanning objective to locate the meristematic region near the rounded end of the root tip.  (Not the cut off, flat end.) 
2.  Now focus on low power.  You will see many cells in various stages of the cell cycle.  

3.  Finally, focus on high power.  Observe every cell in one field of view and determine which phase of the cell cycle it is in.  The partner who is viewing the slide can call out the phase of each cell while the other partner records.

4.  Now switch jobs and view another field on a different root tip.  Record the data on the table below: 

Data:
	Stage
	1st Field
	2nd Field
	Class Total
	Percentage
	Time in Stage

	Interphase
	
	
	
	
	

	Prophase
	
	
	
	
	

	Metaphase
	
	
	
	
	

	Anaphase
	
	
	
	
	

	Telophase
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Total Number of cells counted from all stages

	
	


 Do questions on the other side of the sheet
1.  Based on your data, what can you infer about the relative length of time an onion root tip cell spends in each stage of the cell cycle?

_______________________________________________________________________

_______________________________________________________________________

2.  If your observations were not restricted to the root tip, how would your results have been different? 

_______________________________________________________________________

_______________________________________________________________________

3.  Name the stage of the cell cycle and describe what is happening to the DNA in each of the following illustrations 
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A___________________________





______________________________________________________





______________________________________________________





B____________________________





______________________________________________________





______________________________________________________





C_____________________________





______________________________________________________





______________________________________________________





D_____________________________





______________________________________________________





______________________________________________________





E_____________________________





______________________________________________________





______________________________________________________








